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SMleyemrast : (1) ,@{GU:JGO'T‘E_EQ] emrés@Esd slursl udeaurd e drargr TaTUgDaTE

Instructions :

@y

Note :

(1)
(i)

(i)
(i)

-efluriggs Qararerajb. Fstiudele Gopulmulea, ops

gamsTariiuTariiLb o Leangurss Qsflelsseb.

(2) Beod ey smUY owvloa wLEGCD assHED
23 &5CaMgReugHEL Lwaudss Ceuam(ib. ULRSE auerausnd
GQuenéled LweTLRSSeLD.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams,

u@S - 1/ PART -1
SHeSgl elaméaensEh ellenweldseaLD. 15x1=15

CsrRésuucHarer wrHm el sefld Waab erHyemLw eflenL_anwig
Caibbs(hgs EHUlOrer eflolWamanyh Csiss) ergsayib.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. &Q&&@Tt—mﬁ)@jdr @uipenswime prGenm Clum@par erg ?

(<) wawrdd gysan (<) LD

(Q) fitiswsHar Card (rF) ule S
Which one of the following is the natural nanomaterial ?
(&) Grain of sand (b) Peacock feather
(c) Skin of the whale (d) Peacock beak

2. aesLyren pawCammsHule LwaTuBb aoslyratser 14 kV Warar (s
Capurigamed whssiuGdapar. @bs Blenan(pss GCeumiur(® 224 kV 45
2flafsgwiung), caslrraflar 4-urmi e Semorarg -

(=) 4 LLEG @opuyb (<) 2 LG HsMEELD

(8) 4 wLiE HsMEEw (FF) 2. LG Gyt

In an electron microscope, the electrons are accelerated by a voltage of 14 kV. If
the voltage is changed to 224 kV, then the de-Broglie wavelength associated with
the electrons would :

(a) decrease by 4 times (b) increase by 2 times

(c) increase by 4 times (d) - decrease by 2 times

3. uanCGunmd msmsulear samCrr e1&HnE erg)u earrdl e udlen o Cleu
wroplu®eug _ eremiu(i.

(=) sl uarGuppL (=) e¥és0 uaTGummid
(@) sigiy s uaTGuhDLD (F) AflrCleuatr LamCummld

The variation of frequency of carrier wave with respect to the instantaneous
amplitude of the modulating signal is called :

(a) Phase modulation (b) Amplitude modulation

(c) Pulse width modulation (d) Frequency modulation
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Q snyefl eranug)

(=) R

Xy,
@ 3
Q factor is equal to

oL

(@) =

X
) =

1 Q.8 wpmid 3 Q&8 yreerer @@ 2Corss CaTers s E@HsE wpenm G
~1%x1072.C wpmid 5% 1072 C Serey Wergn L hiser GarerrL L5 67 &) & 61T & 6iT
ealssnu@ Hanar. Geaelm CorahisE@sb @@ W sLs85 b Wlamd
@aamssiul Lréd Quiiw Carersflad, @udurs Qnéeh Weran L wiliy :

(=1) 1x1072C (<=4)3x1072C

Two metallic spheres of radii 1 cm and 3 cm are given charges of —1Xx107 2 C and
5% 1072 C respectively. If these are connected by a conductmg wire, the final

charge on the bigger sphere is : .

(a) 1x1072C (b) 3x1072C

www.TrbTnpsc.com

(@) g\

F) @aneu DenengFD
1 |L

B R Ve

(d) All the above

(@) 2x1072C (F) 4x1072C

(¢) 2x1072Cc  (d) 4x1072C

9emeu(meuaeuDmET crgl Wlewm a;rr;'r;g,;g{m@u_m@m ?

(=1) B -aflisaT - (<) v -8 T&aT

(@) o-sdiser

F) @enel jenansg)b

Which of the following is an electromagnetic wave ?

(a) B-rays (b) vy-rays

(c) a-rays (d) All of the above
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7.

eafldflosd eram 1.5 Qsran. syl UL s garbleayer STHDIS @LE'EQ el
o arang). (Qsmi@ag LEaHT HowsE dmdd) @ LEsSHOGHS Lmr&@Lo Gl
sTHDE GO 5 Q.. @ppsHeId wHAprm LEsDL aylure uTTEEL CUTE
3 Qa.8. wsHaib odreng) erafld, samamiig i LU LsGHan g Loam erémmen ?
(<) 12 Q.8 ()8 Q818 (@) 16 Qa.b. () 10 Q&.5.

An air bubble in glass slab of refractive index 1.5 (near normal incidence) is 5 cm
deep when viewed from one surface and 3 cm deep when viewed from the oppOS}te
face. The thickness of the slab is :

(a) 12cm (b) 8cm (c) 16 cm (d) 10 cm

Qrpdurefe siRseien LweaTUT HE 220 V Barar(ipss GCoumumiqa WO GTEMLD
<afEsiuRaps. @& 0wlsareld 110 V ey eran SefssiuBEng.
@ndureled LuaTuESsLUED 60 W ller elarsder Wangan R eradle,
<QuilssTele LWGTUESSILGDL 60 W e eflersean e SeoL ,

(=) R/4 (@)R (@) R/2 (7) 2R

In India electricity is su‘ppliéd for domestic use at 220 V. It is supplied at 110 V in
USA. If the resistance of a 60 W bulb for use in India is R, the resistance of a
60 W bulb for use in USA will be : '

(a) R/4 () R (c) R/2 | (d 2R

lﬁm@;ahm s019 gendler G Y depsufler I WlenGenmL b umiidlpg). @&sniGew
B = % (/;\ + }\"+ }Q) T eran asrr;bg,ué)gg‘,]eb MEUH LD CSLJrr@J 2&EDL A6 g

Qaweu@b errearey ellansufen erarmodli :

(1) V2 pll (=) \E Bl (@) E Bl (FF) \g Il

A wire of length [ carrying a current [ along the Y dirgction is kept in a magnetic

— A A A .
field given by B = _% (i + j + k) T. The magnitude of Lorentz force acting on

the wire is :

2 1
(a) 2 Bl (b) \/g pll (c) \E Bl (d) \E BII

)

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

10.

11.

- 12,

www.Padasalai.Net www.TrbTnpsc.com

5 » 5917
Qautiu gpppera ol saliaigned edlyrasdr eiflpuubeug 2 1flpay
eraTu (M.
(1) Qautiu el (<ap) gaflblen
(@) Qrevimbd Hevew (/) ye
Emission of electrons by the absorption of heat energy is called emission.
(a) Thermionic (b) Photo electric
() Secondary (d) Field
e sbWe 45 elamys@ 7.5 A WanGeanrlLomeng) urroA&sLu®Sng. @5HS

Crrade swiule o drer e L s&ler w :

(=) 6C (<) 365.5 C

(@) 3¢C . () 337.5 c

If a current of 7.5 A is maintained in a wire for 45 seconds then the charge
flowing through the wire is : ! "

(@) 6C (b) 3655C

() 3C (d) 3375C

CsCarH sdisefen Banayn L :

(=) pOHove (<) Cpie
(@) aarunssiuLaidme (/) el
The charge of cathode ray is :

(a) neutral (b) positive

(c) not defined (d) negative
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13.

14,

15.

M @ns@ Wenorphl Werpagder lanaripss Cougim e 220 V @& QoS
11V o185 Geonsdpg womniw WlaGamLgams 6 A @GU @ mppg 100 A 245 2 WS

SEpgs. Sigen Lugy Sper :
(1) 0.12 (<) 1.2 (@) 0.9 (/) 0.83

A step-down transformer reduces the supply voltage from 220 V to 11 V and

increases the current from 6 A to 100 A. Then its efficiency is :
(a) 0.12 (b) 1.2 (c) 0.9 ' (d) 0.83

‘ v (r . :
R T rralen Weramn(pssd V=V, In [g) erans Qasm(R&sLUL(HeTarg. uG
ro @@ brlddl. Baranwsssdne Curt ign wrdflaw Lwe L (R &l ermev,

PSETENLD @a_lrrsam_m eTenr n-gl QUGS n-eug FHMILTENS T, @aﬂ LommyLImL_lq 657
SEENLD

(@) m*7 (@wey @nen® (Mo

' : r
The electric potential of an electron is given by V=V, In [EJ , Where r, is a
constant. If Bohr atom model is valid, then variation of radius of nt® orbit r, with

the principal quantum number n is :

(a) rﬂa—é" (b) Th *— (C) 'rnocn

gaflullar Gnissama LamSenar QaefliLBsgind Hspea :

(1) paflsfzpe (<) GOESH alerey
(@) ser eflenarey L () efafliby efleneray
Transverse nature of light is shown in : -

(a) scattering : (b) interference

"(c) polarisation (d) diffraction
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U@ - I / PART - II

Gy : sremauGugnd gym aﬁ]@ma;a;@as@ aﬂsm_u_laﬂa;asmm e eraw 24-&®

sLLmuwors eferwealdseib, 6x2=12
Note : = Answer any six questions.  Question No. 24 is compulsory.
16. gaflaul L Waafip&s Tammred ereean ?

17.

18.

What is corona discharge ?

sreeuGeanmbl L Merr WlemGearm L geourfrﬁg)mem ereueurn sdafssemd ?

How will you increase -the current sensitivity of a galvanometer ?

em e Carasdar garflbler Qwaﬂ@u_lgpgj DHDD GreTLImS G]JGU)IIUJQJGS&EQ.[LD c9-|'§'7607

- SAVNES H([HS.

19.

20.

21.

[ ]
Deﬁne work function of a metal. Mention its unit.

197'Au a@asa;@aﬂm D THMSE a;suvr&:é]@es

Calculate the.radius of IggAu nucleus.

e euedensd edlflenwd samis.

State Fleming's right hand rule.

LDT@GLL6) GTemmIed 6Tevmen ?

What do you mean by Doping ?
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22. QLUGuwiEs WenGeammi_Lib erempred eremen ?

What is displacement current ?

23. WQBeL T cuEnTwif).

Define electrical resistivity.

24. FL UEs PUULLSWD gardlar Amw SHeg wrhps Careamd 40° erafle, Q,onlru!'_l_asu
Qurmafier qafl elwse cranamants samss (s,

The angle of minimum deviation for the equilateral prism is 40°. Find the refractive
index of the material of the prism. '

u@g! - I / PART - III
@Qﬂl;ll.[‘: semaBueyd oym amssEnsE o ualssan. deanm o 33-5@
sLLmuwng edenwefl&sam. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
.
25. Garers gyude fwpmb R -&@ @ Guwrar Qgrimiener Gu@aﬁ].

Derive the relation between f and R for a spherical mirror.

26. WarCarr_LgdnEw, @uuy dosGaussdpen QoL Cuwrer QgrLmamear
au(mell. '

Obtain a relation between current and drift velocity.

27. geflflen eflenaray eflglsenar auflenslilBss1s.

List out the laws of photo electric effect.

28. Qunmg e flpriumer flave Syenwoliqéd NPN yrrandlavi flen Werspm @HuSE Lt
UGS : ‘

Draw the circuit diagram of NPN transistor in Common Emitter Configuration.
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GCUTOITIGET LIetsaear T[],

Give the uses of Polaroids,

Qsmifleaniide B@GssHasr Gearbsiu@bGLIE oo Asr@uwdr B
CosG Qﬂ)@)é;asrrm goaturent U Qums.

Derive the expression for resultant capacitance, when capacitors are connected
1n Series. '

ANLTRET <amieder 5 -eug shniLrengudlen :
(i) Garewr 2 psbd wHMILD

(i) dauetar ersl praflear HasCGasd duapamps sanbd(s.
(h=6.6x10"3%Js ; m=9.1x 103! kg)

Find the :

(1) Angular momentum

(11) Velocity of the electron revolving in the 5th orbit of hydrogen atom.
(h=6.6%10"34Js ; m=9.1x 103! kg)

smpseiud aryaey efamsder Aplwudlsmens ‘@g')h'_lﬁl@a;.

List out salient features of magnetic Lorentz force.

Q@sr_it RLC apiflés 2.aiter Bar gramgullean Blamomiiny, Bler Gsdliern Wemogiiy
HmD WesenL 2&liene pevpCGu 184 0, 144 Q wpmid 30 Q erafled sprilerm Wle
afiious srans. Cogib fdawss Cugurd womd HaGariin
Qan_Geren sL& CHTeRSmSLILD seamss (Ns.

Find the impedance of a series RLC circuit, if the inductive reactance, capacitive

reactance and resistance are 184 ), 144 Q and 30 Q respectively. Also calculate
the phase angle between voltage and current.

[ Spliys / Turn over
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UGS - IV / PART - IV
GOy @ Sememgg CadredaEnietb eflenLwefldasayLb.

~ Note:  Answer all the questions.

3. (@) @0 v oo dmsHlar moiy wHpn Qsududb 55
efleufl&sayLb.
S|6060G
(<) Wemorpilulen siawoliy whmb Qewdum’ e laré@s.
(a) Explain the construction and working of full wave rectifier.
OR

(b) Explain the construction and working of transformer.

5x5=25

. Haner

35. (1) Blenr Qpenen @&T@@TW@ FHuOL Hee WaanpsssSnaret CareneueniiL

Qums.

60605

(<) wi @y entCiQarey < iede Qupriu@Bb Ll oL Sisosdharar CarameuauLl

CQums.

(a) Derive an expression for electrostatic potential due to an electric dipole.

" OR

(b) Obtain the equation for bandwidth in Young’s Double Slit Experiment. -

36. () vwi - sraufl eflfleow vweaTLRGE WenGarmiL b uryn geler Hembd -

QaremL G sLgfwrd @m ydaralle ghu@bd sMHs Laosd
Garenauanwis Cums. ' .

S{EV608)
(<2) el e Saniedlar fipwrae Asrismer eflearsgs.

0 &me

(a) Using Biot-Savart Law deduce the relation for the magnetic field at a point

due to an infinitely long straight conductor carrying current.
OR

(b) Discuss the spectral series of hydrogen atom.

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

37.

38.

www.Padasalai.Net www.TrbTnpsc.com

11 5917

(<) () fpoy x S8l Biporenaen erasaury prbd QUIEGHTD ?
W) 20,000 V w@ée Warangssn edmr X - s Gprdd Qo
Qmaﬂ"“@fﬂ X - sdlisaflér Qeul () SienaBarid LHHID Qeul_ () iFirlauen
S weupenpss sem &S (5.
S0
(<) Blpwrea eamre erear 7 Qaueflef® Hmorereuler uamssee eJaTéEHaLD.
(@) (i) How do we obtain characteristic X-ray spectra ?

(ii) Calculate the cut-off wavelength and cut-off frequency of X-rays from
an X-ray tube of accelerating potential 20,000 V.

OR
(b) What is spectrum ? Explain the types of emission spectrum.

(=) Ceveren 2@@1%@1.1@1#]@ FLOGNLITL g GnE au(med.
TN

(<) Gaurél B Lany LuaTL@ s Basasdear s WagmLamu sTarums
elleTs @5

(a) Obtain Lens maker’s formula.
OR

(b) Explain the determination of the internal resistance of cell using voltmeter.

-00o0-
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